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Q.1-5. In the following question, a sentence has been given, divided in four parts
which are not in a correct order. Rearrange the parts of the sentences to make a
meaningful sentence.

Quest 1 :- to boosting credit growth in a slowing economy (A) as the banking regulator
attempts to shield banks from risks arising out of (B) the Reserve Bank of India has asked
lenders to cut their stakes in insurers to 30% (C) their non-banking businesses and steer focus

(D)

(1) ACDB (2) CBDA (3) BDAC (4) CABD
(5) DABC

Ans. :- 2" Option
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Quest 2 :- while the single-minded obsession with maximizing market output and
profits (A) people feel the elites are not really focused on what matters to them but
(B) part of the popular backlash against political and business elites may simply
be that (C) is being challenged, a more meaningful replacement is not yet in clear
view (D)

(1)BCAD
(2)ACBD
(3)CBAD
(4)BDAC
(5)CDAB

Ans. :- 3'4 Option
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Quest 3 :- capital providers and distributors of insurance products (A) which
derive significant income from their insurance units, but also (B) on the insurers

themselves as their parent banks are major (C) the move is likely to have far-
reaching impact not only on banks (D)

(1)ACBD
(2)DCBA
(3)BDAC
(4)BCAD
(5)DBCA

Ans. :- 51" Option
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Quest 4 :- the margins, deposited by brokers only, which (A) brokers themselves
keep margins with the exchanges for transactions (B) in the cash market but they
cannot force clients to pay (C) remain blocked till the settlement is completed (D)

(1)ACBD
(2)CBAD
(3)BDAC
(4)BCAD

(5)DABC

Ans. :- 4t Option
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Quest 5 :- slow down global warming over the next decade (A) the tussle between
Immediate economic challenges and the demands of transitioning (B) who need to

step up their efforts to (C) to a sustainable development path confronts many
developing economies (D)

(1)ACBD
(2)CBAD
(3)BDCA
(4)BCAD
(5)DABC

Ans. :- 3" Option







